
A B C D

Warm­up:  A six foot man casts an eight foot shadow, find the 
         height of the tree if it has a 32 foot shadow.

Week 5, Lesson 1
1.  Warm­up
2.  Notes
3.  ICA
4.  Extra Practice:

Language Objectives
I will listen and take notes as the teacher 
guides me through finding missing sides 
and angles using right triangle 
trigonometry.

I will explain the steps required to find 
missing sides and angles using right 
triangle trigonometry.

I will write a summary for finding missing 
sides and angles using right triangle 
trigonometry.

Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up

Content Objective  Content Objective  Content Objective  Content Objective  Content Objective  Content Objective  Content Objective  Content Objective  Content Objective

Use SOH CAH TOA to memorize the three main trigonometric functions.



Right Triangle Trigonometry
Algorithm:
  1.  Choose an angle. (x)
  2.  Identify the sides.
       (Opposite, adjacent and hypotenuse)
  3.  Use the trigonometric ratios to find the
        missing sides or angles.

(SOH CAH TOA)
x

O
pp
os
ite

Adjacent

Hypotenuse

Examples:

Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes

Summary:
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Evaluate the trigonometric functions of the angle θ
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Can you use SOH CAH TOA 
to solve for the missing side?  
Why, or Why Not?



Extra Practice  Extra Practice  Extra Practice  Extra Practice  Extra Practice  Extra Practice  Extra Practice  Extra Practice  Extra Practice  Extra Practice  Extra Practice  Extra Practice  Extra

BC

A

cb

a

Solve ΔABC using the diagram and the given 
measurements.

1.  B = 24°,  a = 8

2.  A = 19°,  b = 4

3.  A = 29°,  b = 21 4.  B = 65°,  c = 12

5.  A = 37°,  c = 22 6.  B = 41°,  c = 18

7.  A = 70°,  c = 30 8.  B = 56°,  a = 6.8



Warm­up:  Answer the following questions.

Week 5, Lesson 2
1.  Warm­up
2.  Investigation
3.  ICA
4.  Extra Practice

Language Objectives
I will discuss angle of elevation and angle 
of depression with the members of my 
group.

I will demonstrate how to find the angle of 
depression using a hand made 
inclinometer.

I will write a summary explaining the angle 
of depression and the angle of elevation.

Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up

Content Objective  Content Objective  Content Objective  Content Objective  Content Objective  Content Objective  Content Objective  Content Objective  Content Objective

Understand that the term “solving the triangle” means that if we start with a right 
triangle and know any two sides, we can find or solve for the unknown side.

Investigate the fundamental concepts behind trigonometry:  three basic trig 
functions and how to determine which trig function to use.

A B C D

A ladder leans against a building.  The foot of the 
ladder is 6 feet from the building.  The ladder 
reaches a height of 14 feet on the building.
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180
inches

Angle of depression

Angle of elevation

Angles of Elevation and Depression

1.  Make your own inclinometer

height
in inches

2.  Measure your eye­height
distance from the floor to your eyes

3.  Copy the diagram 4.  Go outside, measure both angles
You will need a partner

5.  What did you notice about the angle of elevation when it is 
      compared to the angle of depression?

6.  Explain your answer to #5 using vocabulary and definitions 
     you have learned in Geometry.
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Evaluate the trigonometric functions of the angle θ

A piece of lumber leans against a wall.  The top of this 40 foot piece of 
lumber touches a point on the wall that is 36 feet above the ground.  Find 
to the nearest degree the measure of the angle that the lumber makes with 
the wall. 
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Find the angle of depression.

5 feet

13 feet



Warm­up:  Answer the following questions.

Week 5, Lesson 3
1.  Warm­up
2.  Notes
3.  ICA
4.  Extra Practice

Language Objectives

Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up

Content Objective  Content Objective  Content Objective  Content Objective  Content Objective  Content Objective  Content Objective  Content Objective  Content Objective

A B C D

A B C D

A ladder 6 feet long leans against a wall and 
makes an angle of 71º with the ground.  Find 
to the nearest tenth of a foot how high up the 
wall the ladder will reach.

I will listen and take notes as the 
teacher guides me through solving 
30­60­90 triangles.

I will explain the steps required to 
solve 30­60­90 triangles.

I will write a summary for solving 
30­60­90 triangles.

Know that recognizing special right triangles (30, 60 and 90) in geometry can 
help you to problem solve.
Use SOHCAHTOA to memorize the three main trigonometric functions.
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Find the missing side.



30 ­ 60 ­ 90 Triangle
Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes

Summary:

Start with an equilateral triangle  
(all sides equal, all angles 60˚)

60° 60°

60°2

2

2

Use a perpendicular bisector 
to create 2 right triangles

60° 60°

30°30°

2

1

2

1

60°

30°

2

1

x

30 ­ 60 ­ 90 Triangle

a2 + b2 = c2

(1)2 + (x)2 = (2)2

1 + x2 = 4
x2 = 3
x = √3

60°

30°

21

60°

30°

2xx

x

30˚ 60˚ 

sin θ

cos θ  

tan θ

60°

30°

2

1

Why memorize 30­60­90 triangle?
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A ladder leaning against a house 
makes an angle of 30 with the 
wall. The foot of the ladder is 7 
feet from the foot of the house. 
How long is the ladder?

7 ft



Warm­up:  Answer the following questions.

Week 5, Lesson 4
1.  Warm­up
2.  ICA
3.  Extra Practice

Language Objectives
I will work with the members of my 
group to solve triangles using right 
triangle trigonometry.

I will explain the steps required to solve 
a triangle using trigonometry.

I will write a summary for using right 
triangle trigonometry to solve right 
triangles.

Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up

Content Objective  Content Objective  Content Objective  Content Objective  Content Objective  Content Objective  Content Objective  Content Objective  Content Objective

Understand that the term “solving the triangle” means that if we start with a right 
triangle and know any two sides, we can find or solve for the unknown side.  
Investigate the fundamental concepts behind trigonometry:  three basic trig 

functions and how to determine which trig function to use.
Know that recognizing special right triangles (30, 60 and 90) in geometry can help 

you to problem solve.
Use SOHCAHTOA to memorize the three main trigonometric functions.

From a point on the ground 25 feet from the foot of a 
tree, the angle of elevation of the top of the tree is 32º.  

Find to the nearest foot, the height of the tree.

From the top of a barn 25 feet tall, you see a cat 
on the ground.  The angle of depression of the 
cat is 40º.  How many feet, to the nearest foot, 

must the cat walk to reach the barn?
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Solve ΔABC using the diagram and the given 
measurements.

1.  A = 20°,  a = 12

2.  B = 40°,  c = 5 3.  B = 63°,  a = 15

4.  A = 75°,  c = 20 5.  A = 62°,  b = 30

6.  B = 15°,  b = 42

Find ALL sides and All angles
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From the top of a tower, the angle of depression to a 
stake on the ground is 60. The top of the tower is 80 feet 
above ground. 
How far is the stake from the foot of the tower?


	Page 1: Agenda Wup
	Page 2: SOHCAHTOA
	Page 3: ICA
	Page 4: Closure
	Page 5: Extra Practice
	Page 6: Agenda Wup
	Page 7: Investigation
	Page 8: ICA
	Page 9: Closure
	Page 10: Agenda Wup
	Page 11: ICA
	Page 12: 30-60-90
	Page 13: ICA
	Page 14: ICA
	Page 15: Closure
	Page 16: Agenda Wup
	Page 17: Feb 9-3:03 PM
	Page 18: ICA
	Page 19: ICA
	Page 20: Closure

